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Introduction to Concentration Units A;\
CheMis+ry : http://genest.weebly; com \\jr w:
S}op in for help every day at lunch and Tues, Weds., & Thurs after school! )‘\‘
After-hours question? Email me at home: eagenest@madison.k12.wi.us "R E,

Simple Problen: 1 1. Find the molarity of 350 ml of a solution
Find the molarity of 100 mL of a solution that confains that contains 0.0049 mole NaCl
0.25 moles of dissolved solute. ‘

L _o"fP

090 mL

Step 2: Substiture values into the definitional equation \ 0 Ooqqﬁ\
M= mols = 0.23 moles =25 @ mo 5

Step 1. Convert all volumes 1o liters 150 - mL‘X
100mL - __1L _=01L
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Sample Problem 2 2. Find the nj]OIan

Find the molarity of 250 mL of a solution that contains 4 that contain
g of dissolved sodium hydroxide (NaOH). 5
Step 1: Find the GFM IxNa= 7149 6@)%\

Na =23 1 =% [)(CQ: %SHS e

9 16 =16 = [ \ oL
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Step 2: Convert all volumes to liters 00 QJ ’ n
20ul UL =025L O'Q)q(‘%rms)( \ “\0\ .00 % O,NO’)H l

mo
Step 3: Substitute values info the correct equation

M 59‘*‘\3

3. How many moles of ?H sBr are
4/§ o

Sample Problem 3 g dissolve ;
How many moles of solute are dissolved in 30 mL of a in 40. mL of 2 M solution?

2 M solution?

N omo IS Sol

30mL-_ 1L =003L .\\\ 6§ < —
TO00 mL ‘N\ -\ .\)
Step 2: Substinite values into the correct equation M O
moles =M < L = (2 molesL){0.03 L) = 0.06 moles
R} M - [Aes = [males

(22002 0.

Step 1: Convert all volumes to liters

If 49 grams of pure H2SOy4 are added to enough water to make |
1,000 m! of solution, what is the molarity of the solution? {1} 1.0 I‘-’f;
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29 grams of NaCl gre added to enough water to maka d.000. ml of
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Ina olution of KOH. how many moles of KOH are contained in
W of the solution? (1)1 (2)2 (3)05 (414

¥ B Owoles
M=@§D R eorfonges 1o —> Mx | = ol (Q o%”“’) Ae

O
One liter of a solution of nitric acid contains 126 grams of ljs{;%on.

The molarity of the solution is (1) 1.00 (2)2.00 (3) 1.26 4 C\SOO
1‘0ﬂmkj
I’Lég\-\ﬁ%x [ mol BN _ 7. 00 moles M= "“L"’S —-l—:‘—

A 500 ml solution containing 28 grams of KOH is diluted with water
B 1.000. ml. What is the molarity of the resulting solution? (1) 1.0
03‘%/-/1? {(2)2.0M (3)0.25M (4)0.50 M M= "“—Z—'

Z%X )‘"”‘ -0.50 mol M- 0. Dmel
A 113 | 000 L :
9. Circle the metallic element in each. A =0, g o %
Circle any element that Circle any element "
| s a metal ‘Thig substance is... that is a metal This substance s. ..
AINO,), (onlc) / molecular N,H,O iofiec / @olec@
10. How many pieces will this fall apart into if made into an aqueous solution? (circle your choice)
(NH,),CO, | 1? 2732)4> 5? AINOy), | 17 2? 52
K,CO, | 1? 2237} 4? 5? LS | 1? 27 @ Pe 5P

11. Write your answer with a coefficient in front of each particle. For example, instead of writing Br- Br-
Br- it is more common and easier to write a coefficient: 3Br-
a. LiS dissolving. Use a coeffiecient where appropriate.

L"zS(S) = ?L}+\ 4 Sﬂm

b. AINO,), dissolving. Use a coeffiecient where appropriate.

AMWZ B --> A ‘3;«3) + g “0’;@@





